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int £
if (1>0)
if (((1/2)%2)==0)

(int 1) {

return £ (1i-2)*i;
else
return f (1-2)*(-1);
else

return 1;

int main () {

int i, j;

for (i=0; 1<5; 1i=i+1) {
for (3=0; (?) ; 7=3+2)

printf

("fedl", 1i+3);

int f(int n) {

if (n < 2) {
return n;

}

else {

return (n + £( (?) ));
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int
int
int
int

for

Ql[taill] =
tail

head
count = count +
if

count =

tai

Q[2001;

i, val=0;
count=0;
head=0, tail=0;

(1=1; 1<=30;

il + 1;

‘- +

(count ==

Qlt

+1) |
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1 int k = 4;
2 int m = 1;
*
3 for (int i=1; i<=5; i=i+l) {
« % % 4 for (int j=1; j<=k; j=j+1) {
5 printf (" "
* % % % % 6
.
¥ % % % % % %
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int fl(int all],
int r value =
int 1 = 0;
while (i < 10

(af[i]

r value

break;

return r valu

int value)

_1;

0) {

== value) {

= 1i;

ey

{

(A) n1=33, n2=4
(B) n1=33, n2=5
(C) nl1=34,n2=4
(D) nl=34, n2=5
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int f£f2(int ald,
int r value =
int low = 0,
int/mid;
while (low <=
mid = (low
if (a[mid]
r value
break;
}

else 1f (a

}

else {

high =

}

return r valu

high =

int value)
_1;
99;

high) {
+ high) /2;

value)

= mid;

[mid]

low = mid + 1;

mid - 1;

e

{

{

< value)

{
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int a=0;
Bl 2 enE BREANESD S BRAP S 0 | o,

4o F Aol int i, temp, N;

i=i+1) {
O~1~1~2~3~5~8~13~21+~34~55~

89...c LAz * U E S A S N B
(N>2)§ 5% 7| endic & > 3K (a) & (b)

B 1B 7 fendcit (statement) Bi% s R ?

(A) (a) £[i] = £[i-1]+£f]
B) (a) a
(€) (a) b
(D) (a) £[i
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void f1 (int m) {
if (m > 3) {
printf ("%d\n", m);
return;

intf ("%d\n",
(m+2) ;

m) ;

("%d\n", n);

printf ("%d\n", n);
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i = 76;
Hig & a}ﬂﬁto?‘;ﬁ-}’é’ while i B} % 18
J = 7
TF’—"ﬁJI/F?E?
while ((1 % 3) != 0) {

I
'.l-

A) k %3

i=73
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(A) 11
(B) 13
(C) 15
(D) 16
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void main
int count = 10;

(count > 0) {

("%$d\n", count);

{

= 11;

(i

SRR %2
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1.int fun (int n) {
FA IR AR g 2l s E&_‘mé-‘% 9

2. int fac = 1;

3. if (n >= 0 {

4. fag = n * fun(n - 1);

5. }

6. return fac;
(A) %2t »tti fac = n 7.}
B) %37 x5 if (n > 0) {
(C) %47 >:xi fac = n * fun(n+l)
(D) %4 = »:x i fac = fac * fun(n-1)
+ B £() & (@), (b)), (e) /mF

int f(int n) {
AW O~ PRI HeF 0 oy i (T f(4)§;}l
1) 2468 i % 7 int p = 0;

int 1 = n;
(A) 1, 2, 1
(B) .0, 1, 2 while (i >= (a) )
(C) 0’ 2/ 1 p = 10 — (b) * i;
d 1,1, 1
printf ("%d", p);
i =1 - (c) ;
}
}
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(A) 6
B) 11
C) 13
(D) 14

14. 4+ Mystery( )¥n;' else 3%
A iE BN R R A oA

Mystery(9) @ w @iE i 34 -

(A) x + Mystery (x-1)
(B) x * Mystery(x-1)

< FARN AR KR AR

int £ (int n) {

if (n > 3) {

return 1;

else if (n == 2) {

return (3 + f£(n+l));

else {

return (1 + f£(n+1)):;

int Mystery (int x) {

if (x <= 1) {

return x;

else {

return ;

(C) Mystery (x-2) + Mystery (x+2)

(D) Mystery (x-2) + Mystery (x-1)
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int al[9] = {1, 3, 5, 7, 9, 8, 6, 4, 2};
int n=9, tmp;

for (int i=0; i<n; 1i=i+1) {

(A) 2468975319

(B) 1357924689

(C) 1234567899

(D) 2468513799 for

16. L@l F(7) el w b

12 » ] <conditi

(

(A) a <
return F(a-2) + F(a-3);

B) a<2

<1

a
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(A) 20
(B) 11
© 2

(D) 10
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if (s>=90) {

printf ("A \n");

rintf ("D \n");

S
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int maze([5][5]= {{1, 1, 1, 1, 1},
v ﬁ{‘ 7 {1, 0, 1, 0, 1},
s > count {1, 1, 0, 0, 1},
s b G ? {1, 0, 0, 1, 13},

{1, 1, 1, 1, 1} };

int count=0;

(AJ 36 for (int 1i=1; 1i<=3; 1i=i+1) {
for (int j=1; j<=3; j=7+1)

(B) 20

Il
—_~
—_

|

int dir[4]1[2]
(CD 12 for (int d=0;

if (maze

(D) 3
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for (int i=0; i<=3; i=i+1) {

for (int j=0; j<i; j=j+1)

R E T Ll U S printf (" ");
for (int k=6-2*i; a ; k=k-1)
% % ok %k ok sk printf ("*");

printf ("\n");

£ ok % % }
(A) k > 2
B) k> 1
(C) k>0
D) k >—1
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Total (REF 44%F) > Paid (§ "f X H £%f) > Change($5 % £%)
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int Total, Paid, Change;
v Change = Paid - Total;
A) TARAR 3N IR
(A) A printf ("500 %d pieces\n",
A Change = Change % 500;
(B) AR A
printf ("100 %d coins\n",
B % 3
== Change = Change % 100;
(C) ARAE;\F5
// A &
= C % , .
printgf ("50 %d coins\n",
(D) LAA7 ;N 78 |€hange = Change 5 50;
=D %
// B &
printf ("10 %d coins\n",
Change = Change % 10;
// C &
printf ("5 %d coins\n",
Change = Change % 5;
// D &
printf ("1 %$d coins\n",
Change = Change % 1;

(Change—-Change%500) /500) ;

(Change—-Change%100) /100) ;

(Change—-Change%50) /50) ;

(Change-Change%10) /10) ;

(Change-Change%5) /5) ;

(Change-Change%1) /1) ;
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int G (int a, int x) {
HiFfewBEL P ? if (x == 0)

return 1;

else
(A) 128 return (a *'G(a, x - 1));
(B) 2187 }
(C) 6561
(D) 1024

22, %% - 1x8 ¢hr]i A A =
[0, 2, 4, 6, 8, 10, 12,
14] - - ]S ;% Search(x) £ # [int Search(int x) {
penEdi ] A 27 <2 x ko] int high= 7

R T IR S A N

int low = 0;
T AR S 3N etaed e p) A St 4}5

N while (high > low) {
= 204

int mid = (high + low)/2;

(A) Search(-1) if (A[mid] <= x) {
(B).Search (0)
(C) Search(10)

low = mid + 1;

(D) Search(16)

else {

high = mid;

return A[high];
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F)#c (Greatest Common Divisor) ?

(A) a, GCD(b,r)
(B) b, GCD(b, )
(C) a, GCD(a,r)
(D) b, GCD(a,r)
+ A E- 3 on L E#HGI| L

BABES S LT R E b A - 2
T 9

(A) p RAas|iFHY k@

B) gE AR AFTH? k| &

O Ta<p

(D) af0] <=
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int GCD (int

int r;

retu

return

a, int b) {

rn

int A[n]l={ ..
int p=qgq=2A
for

(int 1i=1;

if (A[1]

i<n; i=i+1) {

> p)
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AL EH 0, 1,2,3,4,56 |0 O
7,8,9 0 W X[1 714 dn int X[10] = {0};
FEEGS 5w for (int i=0; i<10; i=i+1) {

scanf (*&d", &X[ (1+2)%10]) ;
(A) 0,1,2,3,4,5,6,7,8,9
(B) 2,0,2,0,2,0,2,0,2,0 }
(€) 9,0,1,2,3,4,5,6,7,8 )
(D) 8,9,0,1,2,3,4,5,6,7
4 plAe F B EE D A B 20 = i1
THIl" 58T )R- i gk S 1B for (imt 1=0; i<=100; f=i+5 5) {
& I FE 7| Er 20 s Hil" Y printf ("$s s\n", "Hi!");
t

(A), % & # 1<=100 fe i=i+5 A I i i<20 fr i=i+l
B) F&H# i=0 * 2 i=5
(C) 2 &% i<=100 & % i<100;
(D) \® & & i=0 fr i<=100 W R L i=5 {r i<100

18 gt EAle T
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Void F(int a) {

while(a < 10)

(A)a=a+ 5
B)a=a+ 2
(C)a=5

(D) & - =454t {7 19 3]

28. Lz 4 s () F()Hi
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TETW e

int x = 0;

for(int i=1; i<=n; 1i=i+1)

for (int j=i; j<=n; Jj=3j+1)

for (int k=1; k<=n; k=k*2)

x= x+ 1;

return x;

19 %R’Fﬁ”“r’ﬁ iﬁ"/‘ ;L‘




Y
APCS

REFEINERET R IE A B G T S R g s

29. + AR Hmd s A[] ¢ Pk &
Efed | & o 3 i SR AREE T

int main () {

B > ) . oL P Y N i t M= _1 N = 101 = 3;
A g—"},—FF“ A[] A 4B 4ri® K T 1o ! r S
R A = 2e int A[] = ? ;

for (int i
(A) 190, 80, 100]
(B) 180, 90, 100]
(C) 1100, 90, 801
(D) 190, 100, 80]

20 wigers £y
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for (i=1; 1i<=100; i=i+1) {

b[i] = 1i;
(A) 1275
(B) 20 }
(C) 1000 alo) =0
(D) 810 for (i=1; i<=100; i=i+1) {

[i] + a[i-11;

printf ("%d\n",

21 TS £ g



